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SMART CHALLENGERS QUESTIONS — SEPTEMBER 2025

1. Which of the following is an example for hyperbole?

A
The leaves were whispering in her ears
B
Shena is always as cool as a cucumber
C
It seems that she will eat an elephant now
D
My friend is a cheetah on the track

2. This is the best thing since sliced bread means

A

Always beautiful
B

Incredible indeed
C

important
D

A really good invention

3. Word that can be used as an adjective and adverb

A
hard
B
fast
C
both
D
neither

4. Which is an acronym among the following

A

AED
B

SCUBA
C

UAE
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D us
5. Pick out the correct analogical pair
A
Fast is to swift as courage is to cowardice
B
Go is to gone as write is to wrote
C
Goose is to geese as foot is to boots
D
Fast is to swift as courage is to boldness
6. Which pair is an odd man out?
A
Fox, vixen
B
0X,0Xen
C
duke,duchess
D Lion, lioness

7. This long letter is because I’'m writing before breakfast. Oh, the beautiful vine
leaves! The house is covered with a vine. They love me, care for me. | looked out
earlier, and Mrs. Wilcox was already in the garden. She evidently loves it. No
wonder she sometimes looks tired. She was watching the large red poppies
come out. Then she walked off the lawn to the meadow, whose corner to the
right | can just see.

Which sentence in the short passage makes use of personification?

A
first
B
second
C
third
D
fourth
8. If January 1st 2028 is Monday, then the second Saturday in the month of January
2029 will be on
A 7th January 2029
B 9th January 2029
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C 11th January 2029

D 14th January 2029
9.9:26::81:
A 90
B 99
C 729
D 242

10. In a camp, food is stored for 1000 people for 20 days. After 5 days, 500 people left
the camp. For how many days will the remaining food last?

A 30 days
B 27 days
C 41 days
D 32 days

11. What is the missing number in the picture given below.
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C

5

D

2

which is zero?

12. 3 different numbers when added and multiplied gives the same results, none of

A -Nil-
B -Nil-
C -Nil-
D -Nil-

What was the finishing order?

13. Five people, A, B, C and D were eating a Pizza, A finished before B, but after C. D
finished before E, but after B.

A ABCDE
B CABDE
C DBCAE
D AECBD

14. The day before two days after the day before tomorrow is Saturday. What day is

today?

A Monday

B Wednesday
C Friday

D Sunday

15.14. Which of the following is an alkane?

CiHe

CaHa
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C CaH>

D C,HsOH

16. One of the greatest engineering difficulties in artificial womb design is:

A Maintaining constant fetal movement.

B Preventing the fetus from swallowing amniotic fluid.

C Replicating precise nutrient and gas exchange without maternal blood
circulation.

D Providing auditory stimulation.

17. Which of the following is non-ohmic resistance

A Lamp Filament
B Copper Wire

C Carbon Resistor
D Diode

18. If the government increases income tax, what will likely happen to
consumer spending?

Increase

Decrease

Stay the same

ol 0O @ >

Double

19.Which one of the following is a benefit of buying a franchise?

A The franchisor provides training to the franchisee
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B A franchisee pays a lower rate of Value Added Tax (VAT)

C The franchisor pays the franchisee to set up in business

D A franchisee makes all his/her own decisions

20.Mass production was introduced by

A John F.Kennedy

B Barak Obama

C Thomas Alwa Edision
D Hendry Ford

making the first generation computers?

21. Which one of the following electronic technologies is the key technology for

A Transistor

B Integrated Circuit
C Vacuum Tube

D Dual-core CPU
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